24 ) ; 24

Bg/cm?3 Bg/cm?3
-131 < - 8
Cs-134 > - > -
Cs-137 > - > -
Bg/cm3 Bg/cm3
-131 x< - 8
Cs-134 > - > -
Cs-137 > - > -
Kr-85 =< =< -1
Xe-131m > - 1
Xe-13 > - > -
Xe-13 =< -2 =< -3 9

Kr-85Xe-131m,Xe-133,Xe-135

-1
Bqg/cm3 Bg/cm3
Kr-85 57>=<10- 7 ><10"
Xe-131m 35%<10°
Xe-13 59x%<106 2.1><106

Xe-13 9.6><106 1.1=<10°




Bg/cm3 Bg/cm3
Kr-85 2 :
Xe-131m <0
Xe-13 8 ”
Xe-13 8 )

Cs-134 Cs-13

Kr,Xe




24

24

Bg/cm3 Bg/cm3
-131 > -
Cs-134 =< -
Cs-137 > -
Bg/cm3 Bg/cm3
-131 > B
Cs-134 =< - =< -
Cs-137 =< - > -
Kr—85 x -1 2)( -1
Xe-131m > -
Xe-13 > - =< -
Xe—13 > -2 > -3
Kr-85,Xe-131m,Xe-133 Xe-135
-1
L Bqg/cm3 Bg/cm3
Kr-85 =<10- =<10-
Xe-131m 3. <105
Xe-13 3.9%<10-6 2.6x<10-6
Xe-13 8.9%<10-6 99%<107




Bg/cm3 Bg/cm3
Kr-85 2 :
Xe-131m <0
Xe-13 8 ”
Xe-13 8 )

Cs-134 Cs-13

Kr,Xe




